Pre/Post Assessment
1. A tree falls in the forest. After many years, the tree will appear as a long, soft lump barely distinguishable from the surrounding forest floor. 
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a. The mass of the lump on the floor is less than the mass of the original tree.  Where do you think that the mass that is no longer in the lump has gone? In what form?

	


b. What caused those changes in the wood? Explain as well as you can how these changes happened. 

	


c. Is energy involved when the tree decays?     Circle one:     Yes
 /         No
If your answer is yes, please explain how energy is involved.  

	


